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[ t ] denotes the greatest integer function and [t — m] = [t] — m when me Z.
If Kk =2[2x —1] -1 and 3[2x — 2] + 1 = 2[2x-1] —1 then the range of f(x) =
[k + 5x] is
[t] ["?659 ;jjﬂcgoé IS Xoeinolh Sbain me Z eondspd [t—m] =[t] —m.
k =2[2x —1] -1 &Bcsn 3[2x — 2] + 1 =2[2x-1] -1 eons, f(x)=[k + 5x] o)
T3

Options :
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{4,5, 6}

{5.6,7}
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{6? ?: 8}
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Question Number : 2 Question Id : 64041114562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If f(x)=(x+ 1)?=1, x 21, then {x|f(x)= f‘l(;;)} 15
f(x)=(x+1)° -1, XZ-1 oond, odptH {x|f(x)=f"(x)} @36
Options :

L, 0.1

(-1.0.1}
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an empty set (a8 Doedg H30S)

Question Number : 3 Question Id : 64041114563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If 112 —112 =k(5x10° +6x10° +33x10% +110x107 +...+33). thenk =
117 11 =k(5x10° + 6 x10° +33x10% +110x10" +... +33) wond, k=

Options :
1. % 20

4.9

Question Number : 4 Question Id : 64041114564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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If P=|1 3 3| isthe adjoint of a matrix A and det A = 4. then the value of a
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Question Number : 5 Question Id : 64041114565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 64041114566 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 64041114567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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If z 1s a complex number such that = 1s purely uimaginary and locus of z

o
represents a circle with centre (o.p) and radius 7, then 7 + o
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Question Number : 8 Question Id : 64041114568 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 64041114569 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Sum of the squares of the imaginary roots of the equation 7% —20z% +64=0 is
25— 20z + 64 = 0 $5nEmo GNE) LS Hirore Sore FnGo

Options :
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i
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Question Number : 10 Question Id : 64041114570 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Let (a—3)x*+12x+(@a+6)>0, ¥xeR & ae (4,00). If o is the least positive

integral value of a, then the roots of (o — 3)?(2 +12x+(#+2)=0 are
ofy XeR &obch ae (£, 0) o ('31—3):)(:2 +12x+(a+6) >0 «s%A,
a B3 78] GEsirroE Dok o wond, (o— 3)){2 +12x + ({ + 2) = 0 B dager=enn

Options :
1,2
2,3

-1,-2

2

Question Number : 11 Question Id : 64041114571 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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If the roots of the equation x~ + 2ax + b = 0 are real. distinct and differ atmost by
2m. then b lies in the interval
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Question Number : 12 Question Id : 64041114572 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The cubic equation whose roots are the squares of the roots of the equation

& T = e
X" —2X"4+3x—4=0 15

&

_2%% +3x— 4 =0 $&0EBeo Ging) Hrrere Hpeih Srarenre KORD 38 5&n¥se0

Options :



% +2x2 +7x-16=0
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X2 +2x4—Tx-16=0

x> —2x*—Tx+16=0

:q > -
X" —2x“+7x+16=0

Question Number : 13 Question Id : 64041114573 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 14 Question Id : 64041114574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If all possible 4 digit numbers are formed by choosing 4 different digits from the
given digits 1. 2. 3. 5. 8 then. the sum of all such 4 digit numbers is

ain® 1,2, 3, 3, 8 @080 ok areni®h DY) @o8ei JoHER, B F}:é:iﬁ;u S
TPl @08 Hoggeid 33{5;;6'5_;, eerod Trenth eose Joggoihod Gng) dndo
Options :
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Question Number : 15 Question Id : 64041114575 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

The number of ways of forming the ordered pairs (p, q) such that p > q by choosing
p and q from the first 50 natural numbers is

Tt 50 Siresdomge Hod P > q edhynityT P $BOH q o JohE (P, q)
(Eedoosormpei Eacgjeﬁﬁf@ﬁ gsatey Hog

Options :
1275

1250
1225
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Question Number : 16 Question Id : 64041114576 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The number of ways in which a committee of 7 members can be formed from 6
teachers. 5 fathers and 4 students in such a way that at least one from each group
1s included and teachers form the majority among them. is
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Options :
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Question Number : 17 Question Id : 64041114577 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If CD, Cl, Cz= . g Cn are the binomial coefficients in the expansion of (1 +x)",
then (C,+C) - (C,+Cy) +(C,+Co)—(C,+CH+ .=
(1 + )" D5 Sae5® Cor € Cos o, C 020 Gig3505 Heasre O,

(Cy+C)—(Co+Cy) +(Cu+ C)—(C o+ CY+ .=

Options :
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Question Number : 18 Question Id : 64041114578 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 64041114579 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

3x+1 A +BX+C
b = 7 ;' nl —
If E-_DE2+2) x—1 %242 . then 5(A -B)

&

3x+1 A Bx+ .
% .oond, 5(A-B)=
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2.v 8C
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Question Number : 20 Question Id : 64041114580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

cosec 48°+cosec 96°+cosec 192°+cosec 384°=

Options :
Lx W3
443
2. %
0
3.9



Question Number : 21 Question Id : 64041114581 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If ﬁ c0s0+sind =0 then

J3c0s8+sin0 >0 w@ond, ©PEDH
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Question Number : 22 Question Id : 64041114582 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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If cos0 = — and g does not lie in second quadrant. then Tall— =

- —

-3 ) ) a)
cosB -5 Bcfn g Bokd arodd B Elwdn wond, THHEZ

Options :

Question Number : 23 Question Id : 64041114583 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
and COSX =—

The general solution satisfying both the equations sinx = — is
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Question Number : 24 Question Id : 64041114584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The number of solutions of Tan ™ e = Cos ' x?
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. infinitely many (eo8085&8),)
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Question Number : 25 Question Id : 64041114585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Tanh ™ (sinf) =
Options :

Sinh ! (cosec 9)

1. #®

Sinh ™' (sec 6)
2. ® |

Cosh ™' (cosec 0)
3%

Cosh™" (sec 8)
4.4



Question Number : 26 Question Id : 64041114586 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In AABC.1f3=8.b=10.c¢c=12. thené

A I
AABC&®* a=8.b=10.¢c=12 eonad . E

Options :
8
1

n

2.9

Question Number : 27 Question Id : 64041114587 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



In triangle ABC.ifa=13.b=8.¢c=7.thencos (B+C)=
(Sgheo ABC & ifa=13.b=8.c=7 wond, cos (B+C) =

Options :
11
1. # 13
23
, x 26
3
4
3. %
=
s.v 2

Question Number : 28 Question Id : 64041114588 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In a triangle ABC. if (1; —13)(1; —1,) — 21,13 = 0. then a* —b? =
2.8 [@2ha:0 ABC &° (3 —13)(1; —1,) — 21,13 = 0 00w, a*—b*=

Options :



Question Number : 29 Question Id : 64041114589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the median AD of the triangle ABC is bisected at E and BE meets AC in F. then
AF :AC=

AABC H“Jéé cﬁjcﬁéﬁéo ADJ E 55% 535;0566 é-‘sfa_:;oc?ﬁ subaim AC D BE.F fjg 53053'&;
wapth AF:AC=

Options :

1:4



2.

;% 112
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Question Number : 30 Question Id : 64041114590 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If a=2i-3j+5k and b=—i+3j+3k are two vectors. then the vector of
magnitude 28 units in the direction of the vector 3 —b is
a=21i-3j+5k %680 b=—1+3j+3k e Soth 3083, 28 SHrdE HBHTEB0
$0A a—b $6% 638 &) 463

Options :



L w 12i +24j -8k

Question Number : 31 Question Id : 64041114591 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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: . S iy i
If 3 1s a unit vector. then Elxl‘ +lax j| +jaxk| =

e _ T N
a 2.8 chrdé) H6E wond, [axl +‘a><] +‘a ><k‘ =

Options :
1% 4

-2

4.

Question Number : 32 Question Id : 64041114592 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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four vectors then (axb) x(cxd)
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Options :
181 +6j+30k
1.¢

8i—3j+8k

2. %

19i —5j+21k

3. %

27i —8j+29k

4. %

Question Number : 33 Question Id : 64041114593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



31+ j+k, 2i+k, i +5] are the position vectors of three non collinear points

A, B, Crespectively. If the perpendicular drawn from C onto AB meets AB at
the point aji +bj+ck.then a+b+c=

314 j+k, 2i+k, 1+5] o0 $66mr $dhotes =8 Sowh Doshiden A, B, C &
J% Boden. H0¥ AB 28 C %08 ABS womo AB % ai+bj+ck oF o S
podd, a+b+c=

Options :

Question Number : 34 Question Id : 64041114594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



. ; . 11
Let X;,X,....,X;; be the observations satisfying > (x;,-4)=22 and
1=1

11

2 : :
2 (x;—4)" =154 If the mean and variance of the observations are o and B.
i=1

then the quadratic equation having the roots B and N 15

11 11
i 2
1. CRERRS of oy Hb8eden _E(Xi —4)=22 %805 _Z(I'H—@ =154 0% &%)
- 1=1 1=1

HBBIcH0E 08, © HBdode Do HBSH Y JPen HBHT o 2B P
o p
©onS, E Exhlelonhy) E e PoTeerene e égmaﬁzéeﬁm.

Options :

1.

2.

3.

15x% —16x+15=0

#®

15x%2 —34x+15=0
o

x%-16x+60=0
®

. 12x% - 25x+20=0



Question Number : 35 Question Id : 64041114595 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

There are 8 boys and 7 girls in a class room. If the names of all those children are
written on paper slips and 3 slips are drawn at random from them. then the
probability of getting the names of one boy and two girls or one girl and two

boys 1s
2.8 SBKS KHSE® 8 Hob arenth B T 06 ardEen GBIV, & 2eooid Bl
25% 5365&:_;_3 570, & ook c‘émﬁﬁgqéom Horth HBedH QP, a8 arentd

Sobain s erden B a8 arOE SHdaso Q% erent 255 FPolmlE Ke Rograigs
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Question Number : 36 Question Id : 64041114596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A four member committee 1s to be formed from a group containing 9 men and
5 women. If a committee 1s formed randomly. then the probability that it contains
atleast one woman is

9 Foob Hpen b 5 shob l&m fie 2.8 Do ool Henthth Dghren Ne a8
£ D8\ B8TD. oirnBore a8 STV 2807, @otHE® EIK0 a8 Lﬁ; Soteel8 e

DogrEgs
Options :
125
18
143
2. %
60
e 143
63
L% 143

Question Number : 37 Question Id : 64041114597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



A die 1s thrown twice. Let A be the event of getting a prime number when the die
1s thrown first time and B be the event of getting an even number when the die 1s

thrown second time. Then P(A/B)=
28 ardE Cothardy DXB280b. Tnddard HHBSDD Eeed Dogy 5‘53;, Foeiddh A
FoB05n BokHard DHBHDE $BHogg HB) e B ediomro. wind P(A/B)=

Options :
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Question Number : 38 Question Id : 64041114598 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



A bag contains 5 balls of unknown colours. There are equal chances that out of
these five balls. theremaybe Oor 1 or 2 or 3 or 4 or 5 red balls. A ball is taken out
from the bag at random and 1is found to be red. The probability that it is the only
red ball in the bag is

2.8 H0oDE° Borh BDSH modhen 5 Sonon. & 5 poHed® 0 Sor 1 8o 2 Soe 3 T
4 Bor b oden QBN 5eHERE DHrSHD DogrdyBaramon. @ Hod Hod el 208
SErthBorT achir 82 o0 B 208 HBoTD. @ HodEP ob a;é&é B 2o

5235608 He Sogriid

Options :
|
1. # 3
1
6
2. %
1
15
3. ¢
1
30



Question Number : 39 Question Id : 64041114599 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If X~ B(9.p) is a binomial variate satisfyving the equation P(x = 3) = P(x = 6).
then P(x <3) =

X~B(9.p) @36 Px=3)=P(x=6 Ki_)éﬁﬁ??% %E;aﬁéé 2.8 Beits SeTed eons
Pix <3) =

Options :
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—
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Question Number : 40 Question Id : 64041114600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The mean and variance of a binomial distrbution are x and 5 respectively. Ifx1s
an integer. then the possible values for x are

a8 Bl Dgresdzin ng) eof sHgEan SHbdin dL)Een DHD™ X H8csn 5. X a8
Hrorodsn wons, X £ %cﬁ;&ézcﬁ% Sensien
Options :

o 6.10.30

8, 12,28
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g, 13

I3
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0.18. 24

Question Number : 41 Question Id : 64041114601 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the locus of a point which is equidistant from the coordinate axes forms a
triangle with the line v = 3. then the area of the triangle is

ASrEDEEre ol DiPH Sr50e? o 2.8 HothDH @ng) Botigo, y=3 G580
a8 (Bgherd)) 0807, © (Biheo @) 30

Options :



1 %
2.¢ 9
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Question Number : 42 Question Id : 64041114602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



: . . ;
After the coordinate axes are rotated through an angle 1 in the anti clockwise

direction without shifting the origin. if the equation x* +y? —2x—-4y—-20=0

2 : Q
transforms to ax~ + 2hxy + b}'z +2gx + 2fy + ¢ =0 in the new coordinate system.

a h g
then h b 1=
g f ¢

I8
Sore Hothdhidh Srgore, N8 egrei FH6HE g5t — §5~=:30J” (oo IHBH%

%8880 X% +y7 —2x—4y—20=0, ErS5 VEFDE HHHS

[
a h g
ax” + 2hxy + by’ + 2gx + 2fy + ¢ =0 r Srarosto J06d h b f|=
g f c
Options :
—20
1. %
—25
2.9
—30



Question Number : 43 Question Id : 64041114603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A(=2. 3) 1s a point on the line 4x +3y—1=0. Ifthe points on the line that are 10
units away from the point A are (x,. y,) and (x,. y,). then (x + }'1)2 +
L A

4x+3y-1=0 és,::?;g A(=2, 3) 2.8 Dothd. @ T""]E{?'E A Bothy) ol 10 chrdé
Sr8os® Ko DodrHen (:‘{1. }-‘1) 008dia (KE' }’zj © 008, (I{l F }’1]2 +
K5

Options :

10
1. ¢

Question Number : 44 Question Id : 64041114604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



If o is the angle made by the perpendicular drawn from origin to the line
12x — 5y +13 =0 with the positive X-axis in anti-clockwise direction, then o=
12x — 5y +13 =0 58588peH Sameodossxd) So08 AD% somo 358 X-@%@éﬁ 2538 Eyefest
% &%0 o wond, o=

Options :

Tan ' —
1 e

27— Tan ' —
2. %

T— Tan_li

12

3.¢

n+ Tan™! i
, 12

Question Number : 45 Question Id : 64041114605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



If the equation of the pair of lines passing through (1. 1) and perpendicular to the
pair of lines 2x? + xy—y* —x+2y—1=0 is
) ¥ b
ax~ + 2hxy + by~ + 2gx +3y =0. then e
(1.1) Dot foowe 8dm 2X° +Xy—y —X+2y—1=0 SgrainmQ8& vonorr &8

L,
a

Ograinio @) $uEdmo ax” + 2hxy + by” + 2gx + 3y =0 @ons,

Options :

Question Number : 46 Question Id : 64041114606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



If the combined equation of the lines joining the origin to the points of intersection
of the curve x? +y* —2x —4y+2=0 and the line x+y—-2=0 is (/x+m,y)
(Lbx+m,y)=0.then ; +/, +m; +m, =

S0 x*+y*—2x—-4y+2=0 B0 By X+y—-2=0 © g0 HoHiHesd
SoroflothHS® Eendir 2GS Ope =ae 5888msm (Ix +myy) (Lx+m,y)=0

wowd, L+, +my+m, =

Options :

16

10

4.%

Question Number : 47 Question Id : 64041114607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



If the circles x* +y” + 5kx +2y+k =0 and 2x2 + 2y” +2kx +3y-1=0, keR
intersect at points P and Q. then the line 4x + 5y —k =0 passes through P and Q
for

X* +y* +5kx + 2y +k =0 0805w 2x% +2y* +2kx +3y—-1=0. ke R H)FHoen
P s506cim Q dothiye étg 20B0HF o8, o0pth 4x+5y-k=0 o

Options :
exactly one value of k

. pinddnme K ang) o8 ol Dendd P sobosn Q howe 80b.
1.

exactly two values of k

pinSsoe K o) Soh Dendos P ihdcin Q MHowe 885ob.
2. %

no value of k
v k Giog) o) Denaddr P bain Q Mhowe &5%¢.
3.

finitely many values of k

k Gng) ©58088S Dended P 5B Q thowe sf&ob.
4. %

Question Number : 48 Question Id : 64041114608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The slope of one of the direct common tangents drawn to the circles

x2+y?-2x+4y+1=0 and x*> +y? —4x -2y +4=0is

X*+y* - 2Xx+4y+1=0 8m x*+y? —4x-2y+4=0 HmeH ADS (H&E

-

a8t DY Spesd 8o @Yy aren
Options :
1. % 0
4
3

2. ¢

= S

Question Number : 49 Question Id : 64041114609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



If (1. a). (b, 2) are conjugate points with respect to the circle x? + y*> = 25. then
4a+2b=
x4 }fj =25 o thap s (1, a). (b, 2) Hothshen &S cﬁpﬁé DothHen wond, 4a +2b=

el Vel '-E::a
Options :

23
1. %

5 50

100

3. %

L x 150

Question Number : 50 Question Id : 64041114610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the pole of the line x+2by—5=0 with respect to the circle
S=x’+ },2 —4x —6y+4 =0 lies on the line x +by+1=0. then the polar of the
point (b.—b) with respect to the circle §=0 1s

S=x"+y" —4x—6y+4=0 HEsn Bspg Xx+2by-5=0 ©3 $BE0H @) (o
X+by+1=0 3 5502 608, S=0 it C:S\ 5 (b.—b) &oths) BwE) (EHd O

c\,mu ééaao



Options :

S5y—-6=0
1. ¢

y—6=0
2. %
- X+5y—-6=0
4'%:tr‘f;Jrj,.f—u‘ﬁ:{}

Question Number : 51 Question Id : 64041114611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If P(a.p) is the radical centre of the circles S=x*+y*+4x+7=0.
S'=2x” +2y* +3x+5y+9=0 and S"=x"+ y* + y=0. then the length of the
tangent drawn from P to S'=0 is
S=x2+y?+4x+7=0, $'=2x2 +2y? +3x + 5y + 9 =0 5060w
S"=x?+y* +y=0 3 Here SreSoo P(a.p) wowd, Pod S'=0 % ADS
Bﬁqﬁﬂ%ﬂ&p ety

Options :

1% 2



Question Number : 52 Question Id : 64041114612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If thetangents of the parabola y® = 8x passing through the point P(1, 3) touches
the parabola at A and B, then the area (in sq. units) of AABC 1is

},2 = 8x Joweratrdd P(1, 3) Dol thowe fdiden ABS ‘@”ﬁj@ﬂaﬂm, &9 ol OTPR)y
A &hcso Be a’ic:g ) E‘;,r%‘i:un, AABC JZ&egin (é.ﬁmﬁ)ﬁﬁ;@ﬁ)

Options :

1

| W2



| =

| =

4.

Question Number : 53 Question Id : 64041114613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The equation of the normal drawn at the point (NE+1‘—1) to the ellipse
X*+2y° —2x+8y+5=0 is

x* +2y* —2x +8y +5=0 BY $508, (V2 +1,—1) Dothid 55 ADS edeoondy
TN =telile

Options :

1. % X+y=+2

};—2}»‘:3+-,E

2. %

3 @ \Ex—}f:SerE



2x+y=232+1

4. %

Question Number : 54 Question Id : 64041114614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If 3x + 2\/5};4- k=0 is a normal to the hyperbola 4x* —9y*> —36=0 making

positive intercepts on both the axes. then k =

2 2 ¢
4x° -9y~ —36 =0 @8 SoededirlE, Soth Abrdsesre 23 Hard)d @088 PO

ool W

39 ol edoon OB 3x + 2\/53\; +k=0 =ona, k=
Options :

2. %
=, 1
3. %
g%/
4. 1372

Question Number : 55 Question Id : 64041114615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



If a hyperbola has asymptotes 3x—4y—1=0 and 4x—-3y—-6=0. then the
transverse and conjugate axes of that hyperbola are
af ©8 Hoedocho ang eNod X;;:ﬁﬁ*fﬁajm 4 —-3y—6=0 08d» Ix—4y-1=0
Lond, &% odbodacho Gng) Sodini) @fo by 855 efsnen

Options :

- X4 ¥—D=0, X=¥Y1:=A

4x —3y=0. 3x+4y=0

2. %

3X—4y=0, 4x+3y=0
3. %

. xt2y—1=0, Zx—xyrl=l)
4,

Question Number : 56 Question Id : 64041114616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If A(O. 1. 2). B(2. —1. 3) and C(1, —3. 1) are the vertices of a triangle. then the
distance between its circumcentre and orthocentre 1s

A(0. 1. 2). B(2. -1, 3) 3965w C(1.-3, 1) a8 @dhao o) %cﬁmeﬁojﬁé. R G
SlataN ] oo 805 sozBo|tdne oty oo

Options :



S

1.9
3
2
2. %
3. % 7
9
2
4. %

Question Number : 57 Question Id : 64041114617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the direction cosines of two lines satisfy the equations /—2m+n=0.

/m+10mn —2n/ =0 and g 1s the angle between the lines. then cos6 =

Both Oge B8 825 [—2m+n=0. /m+10mn — 20/ = 0 SoESered Sh%haron
L8050 @ Tpe inlg 50 § won®, cosd =

Options :



1. % 6
8
2. ¢ m
Cai
3
3. ®
20
3,70
4. %

Question Number : 58 Question Id : 64041114618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If (2.-1. 3) 1s the foot of the perpendicular drawn from the origin (0. 0. 0) to a
plane then the equation of that plane 1s

Sorefothd (0. 0. 0) 0D a8 S0ond Achads woaardo (2. —1. 3) @ond, & Seo
o8y HEBeso

Options :

2x+y-3z+6=0
1. #



2Xx—y+3z-14=0
2.

. 2Xx—-y+3z—-13=0
3.

2XFy+E3z=10=0
4. %

Question Number : 59 Question Id : 64041114619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

v 2
x%sin?(3x) +sin*(6x) g

lim _
x—0 (1-cos 3x)”

Options :
580

1.¢ 4




Question Number : 60 Question Id : 64041114620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

(1+sinx)“**, -w/2<x<0
If a real valued function f(x)=- A x =0
2/ 3/
R T .
-"IX 3".1[ D{X_ ‘T.'.h
. ae” " +be”
1s contmmuous at x = 0. then ab=
(14sinx)**, —w/2<x<0
e e Horey (HRbabdm f(x) =1 a. =i
2/ !
g2 Ry ,.
- Dex<ml2
+he'™
=0 ¢ YR wond, ab=
Options :
e

1. ®



Question Number : 61 Question Id : 64041114621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

. {cosecx—cotx)e* —e ®
L e e

z—0 «./E—x,‘ZJrc-:}sx

Options :




13

4.9

Question Number : 62 Question Id : 64041114622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

dy
If }f:\/coshx+¢coshx . then =

dx:

dv
y= \/cmhx +4Jcoshx wond, q =
X

Options :

simh x [ 2}'3 +2coshx + 1]

4}-’[ yl - COSIIK)

1. # ' '

sinh X(E}’z —2coshx-1)

4y(y? —coshx)

sinhx(1-2,/coshx)

4}’\/c05113:

3. %



smhx(l+ 2+/coshx)

4choﬂ1X

4.9

Question Number : 63 Question Id : 64041114623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

= 7 L — s d ;
If y=Tan "v/x* —1+Sinh™ xi—],x}ljhmld}=
X
= ) X = 2 ¢ dy
y:Ihnlﬁx‘—1+8mh1Qx‘—1_x:dsxm§,d}=
%
Options :

1
xdxz—l
“

l.

Xx+1
Xﬁxj—l

2.¢

Xx+1

3 % x*yx? -1



Question Number : 64 Question Id : 64041114624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0




1
e+

Question Number : 65 Question Id : 64041114625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The interval in which the function f(x)= Tau_l(gjn}; +cosx) 1s an increasing

function. 1s

F{x])= T311_1(51113+c95 X) Sahoho =855k Hihoho oah; wosto

[

Options :

/

10‘31‘
-y
1. %
[ 9 )
a 2"2,_.‘
2. %
i A"
(_3n m)
\ 4 4)



Question Number : 66 Question Id : 64041114626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

1
The slope of a tangent drawn at the point P(c.p) lying on the curve ¥ = S 1s
—2. If P lies in the fourth quadrant. then o —p =
r 1 s o £ ™ £
> S Do &) Dothsd P(a.p) Gl ADS &0y sren —2. P o ariiod”

Options :
4

1. ®

LS ]

2.

Question Number : 67 Question Id : 64041114627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
The function f(x)=xe *¥x R attains a maximum value at x =k. then k =
(it s i Xy ) P . ! g
(Bbchan f(x)=xe "VXER a8 K8y Dendsid X =k & grods, k=

Options :

1.-*=?1

Question Number : 68 Question Id : 64041114628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If m and M are the absolute minimum and absolute maxunum values of the
function f(x)=2+/2sinx — tanx in the interval [0,7/3]. then m+ M=
m 5805 Men [0,7/3] ®08508° f(x)=2+/2sinx —tanx (Hdoho Fng) B85

803 Dend HHbcin BB X8R Densen wons, M+M=
Options :



Question Number : 69 Question Id : 64041114629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

> -
S€C X
j uidl dx — j . ] dx =
5111 X sm X

Options :

1

sin® x cosx

1. ¥

+C

tanx

.
, % SIX

sin® x cosx + ¢



SCCX Iﬂl‘l? X+C
4. %

Question Number : 70 Question Id : 64041114630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If J.(xﬁ Ex i 32}\/2:&4 +3x%+6dx= f(x)+c.then £f(3)=

j{xﬁ g +};2)\/214 +3x°+6dx= f(x)+c wond, f(3)=

Options :

1. %
g1 =
~(195)°
2{ )
2.9
3 3/2
=(265)
3. % =



Question Number : 71 Question Id : 64041114631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

dx =
j(};+1‘j\/x‘}+1

Options :

¥ oo o BESEN
——Smhl‘———‘+c

2 \1—-x )

1. ®
—l—Smh411_xl+c
J2 L1+x
2. %
1 I o
——Sinh™ —= |+¢
42 L14+x )
3.9
1 .. 4f1+x)
——=S8inh i +C
V2 \1-x
4, %

Question Number : 72 Question Id : 64041114632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



f
~

T "

dx
IfJ. : =—=1(x)+¢_then f| ——
2cosx+3sinx+4 43 L 5 ]

dx 2 o ol 20
J. , = f(X)+¢ wows, f i ‘
2cosx+3sinx+4 3 L 3

Options :

Question Number : 73 Question Id : 64041114633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



1 (x+4)"
Ifj - dXZA.| 1; +C _ then

y i
((x+4) (x+1)) e
1 (x+4Y
T d};zﬂ.i X ‘ 4 C eons, P
[(x+4]3(};+1J5) Rkl
Options :
% nA=3
1 1
=
/ 2
2.9
A+n=1
3 %
A=mn
4. %

Question Number : 74 Question Id : 64041114634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

a2

P .a.o - T
SN X cos” X(sinx +cosx)dx =

fZ

] —

Options :



], %
2
15
2. %
4
15
3.9
2
5
4. %

Question Number : 75 Question Id : 64041114635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

1/2 2
: X—X
i —dx =
s X
Options :
21

1. = 2



[T
w| X

2.

3% 3
7
2

4. %

Question Number : 76 Question Id : 64041114636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

—'I'EI'(EI.‘:
| vl-cos2xdx=
0
Options :

10072

1. %

20042

2. %

40042
3. %
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Question Number : 77 Question Id : 64041114637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Area of the region (in sq. units) bounded by the curve y = x‘—5x+4, x=0,
X = 2 and the X-axis 1s

Sgso y=x?-5x+4, x=0, Xx=2 bckw X-etfnod SB®EHH |aFodo o)
a0 (2 SR ges™)

Options :

3



|

Question Number : 78 Question Id : 64041114638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

=142
S——— . N

If the order and degree of the differential equation X—= = 1+l 5 are

dx dx”
k and / respectively, then k. / are the roots of
; AN
&y | (dy) ,,
X5 = 1+ 3 I 35808 DohEbman @nE) Hb&resn, 6K k 58050
dx dx” | |

| en womas, k. [ en Hieerenre Ko HébE8mo

Options :

7 =
X" —-5x+6=0



x2-6x+8=0
4.

Question Number : 79 Question Id : 64041114639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The equation of the curve passing through the point (0.7) and satisfving the

differential equation ydx =(x+ }'3 cosv)dy 1is

HEDHn DY) H&Eeso

Options :
A 2
, X=Y siny+ycos’y
1.
% 13 2 Y
X=y siny+2ycos” =
2.¢ 2
X = y>siny + ycos? %
3. % -
5 9
X =y siny—ycos“y
4. %

Question Number : 80 Question Id : 64041114640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

The general solution of the differential equation

(x—(x+y)log(x+y))dx +xdy =0 is
X—(x+¥y)log(x+y))dx + xdy =0 3 eged 35Etmo @ng) Fprden s
. )

Options :
vilog(x+y)=cx

xlog(x+y)=cy

2.

log(x+y)=cy
3. 23 = ( = ) }

log(x+y)=cx
4.¥
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Question Number : 81 Question Id : 64041114641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the equation for the velocity of a particle at time 't'1s v=at + L then the
I+cC

dimensions of a. b. ¢ are respectively

b
t+c

-,

ond, a.b. c & oben

' —£ B e
't see0 ¢ a8 o o) 8 DabE8eo v =at +
DB

Options :

i R [
1. %

121 .1

2. %

% MR 2 )

E.ERL”

Question Number : 82 Question Id : 64041114642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



If a stone thrown vertically upwards from a bridge with an initial velocity of
Sms L, strikes the water below the bridge in a time of 3 s, then the height of the
bridge above the water surface 1s
(Acceleration due to gravity = 10 m s72)
a8 (@6 2os E8e vonorr Sm s 35088 28 Q58288 a8 tron 3§ w0’ (e
Bots HBY =088, o HB &bsw0 DHod B& &
(% Sxeso =10 m s72)

Options :

10m

1. #®

26 m
2. %

30m
3. ¢

L% I8 m

Question Number : 83 Question Id : 64041114643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



If a. p and y are the angles made by a vector with X, v and z axes respectively.

i .
then sin’a + sin’p =

a8 HBE X,y 0bdm Z ’F:’.'M?EJE%E Jain Sleren S%Be o, P 0BFBW ¥ @owd,
M. = Ly
sma+smp=
Options :
2

B =
| % SIOY

&
, % COSTY

s o coszﬂf
3.

1=k sin‘z}f
4. %

Question Number : 84 Question Id : 64041114644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



A particle moving along a straight line covers the first half of the distance with
a speed of 3 m s™!. the other half of the distance is covered in two equal time

1

intervals with speeds of 4.5 m sland 7.5ms" respectively. then the average

speed of particle during the motion is

HEEBee é}ﬂfgoé’:‘ BDSPHNN) a8 Bwo Swéo ErB0St s B geredy 3 m s

™
ol
HES°, e dKfo Broed) Both SEED e HPHS? HHdre 4.5 m 51 HoBcsm

7.5 ms ! 5508 Hrdods, o Smo @nY) Hovs H&

Options :

40ms !
1.¢

50ms

S55ms

48ms!

Question Number : 85 Question Id : 64041114645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Water flowing through a pipe of area of cross-section 2 x10™> m?> hits a vertical

wall horizontally with a velocity of 12 m s7L. If the water does not rebound
after hitting the wall. then the force acting on the wall due to water 1s

= 2 i s i
2x107> m? ﬁc’}éﬁ;iﬁ ST50 68) a8 o oxoe [HIroiHddRy 5 12ms!

S0&° Eda; Jdrosdore 2.8 Jenw) e ao8ob. REdH =85 Hih 358 &8A
oo, fléﬁég ﬁBLﬁTE EOR 2eo

Options :
24 N

1. ®

144N

2. ®

- 288 N

72N

4, %

Question Number : 86 Question Id : 64041114646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Two blocks A and B of masses 2 kg and 4 kg respectively are kept on a rough

horizontal surface. If same force of 20 N 1s applied on each block. then the

ratio of the accelerations of the blocks A and B is

(Coefficient of kinetic friction between the surface and the blocks 1s 0.3 and

acceleration due to gravity = 10 m s7%)

Stodre 2 kg HHdain 4 kg (BgoedHen He Botdh BIyen A B B o8 i 88

DXP0SY ooy sodaiaron. (HS Hayp 28 oo 20 N (H&ErAod8, A ddsn B

Balye &Bere Dad

(feo8 S0Bao E&Ejé_ﬂ;éj 0ess H8s s Messo 0.3 shdain M éieso = 10 m s?)
Options :

11

Question Number : 87 Question Id : 64041114647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



If a force of (6x° — 4x) N acts on a body of mass 10 kg. then work to be done by

the force in displacing the body fromx=2mtox =4 mis

o = 2 o o
10 kg B&50°8 reo 2.8 Sdp (6x° — 4x) N aeo0 5D 3@5)3&3365: & 3rNaYN

X=2m $od X =4 m% FHigodo BobHoHHdH wwo IeHHODS HI

£

Options :

6617

887
4. ¢

Question Number : 88 Question Id : 64041114648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



A circular well of diameter 2 m has water upto the ground level. If the bottom of
the well is at a depth of 14 m. the time taken 1n seconds to empty the well using
a 1.4 kW motor 1s

(Acceleration due to gravity = 10 m s72)

2 mago Ko el Hosds o Jo $0&0 DL DB BOA 6ob. © 2 kD
£ — =7 . &
14 m &5 &P ﬁ?ﬁ&ﬁ, a8 1.4 kW 3re:6:5 &5arhod erdd rér grd D50t

Htn seeo D¥othedd

kL,
(ot Siiso = 10 m s )

Options :
1860

Question Number : 89 Question Id : 64041114649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The coordinates of the centre of mass of a uniform L shaped plate of mass 3 kg
shown in the figure 1s

Heo6t 5008 3kg (B8 &) L wsdod® Ko a8 D868 Hel Do) (Baoe8 So|%o

EPIETen

y (m)
2
[
0 | =X (m)
1 2
Options :
e .-
— 1L — 11
'-\ 6 6 /

1.



3 3
—m—m
2

{ 1 ‘,_

| — 1. —1m |

1L Z
3. ®

f 6 “1,_
—m,—m|
\ 3 J )

4, %

Question Number : 90 Question Id : 64041114650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A circular disc of mass 20 kg and radius 1 m 1s rotating about an axis passing
through its center and perpendicular to its plane with an angular velocity of
2 rad s71. Then the rotational kinetic energy of the disc is

(508 20 kg $8a5m Eﬁéﬂﬂgo 1 m o a8 Hess OF) 2 rad s g das Fos®
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Question Number : 91 Question Id : 64041114651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The equations for the displacements of two particles in simple harmonic motion

T
arey, =0.1sin (1007t + —%) and y, = 0.1cosnt respectively. The phase difference
between the velocities of the two particles at a time t =0 1s
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Question Number : 92 Question Id : 64041114652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A spring 1s stretched by 0.2 m when a mass of 0.5 kg 1s suspended to it. The
time period of the spring when 0.5 kg mass 1s replaced with a mass of 0.25 kg is

suspended to it 1s
(Acceleration due to gravity = 10 m s72)

2. [fyoh H08 0.5 kg (3535350780 [Herddbdapd, @ @yoh 0.2 m FAS6. e E{jpﬁé}
$ADODS 0.5 kg (B55550°80 &ohod, 0.25 kg (B550e80 Berbdi, o [Roh dng)
Shletvi=clole
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Options :
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62.8s
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Question Number : 93 Question Id : 64041114653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

An artificial satellite 1s revolving around a planet of radius R 1n a circular orbit
of radius 'a'. If the time period of revolution of the satellite. T ¢ 33"'2gXR3’r. then
the values of x and v are respectively

[g - acceleration due to gravity]

28 )8 63(@isro, R ﬁéﬁﬂgc He (o by, 'a’ Jaq::—flcga Ho Heesed égééﬁ
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Question Number : 94 Question Id : 64041114654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the longitudinal strain of a stretched wire 1s 0.2 % and the Poisson's ratio of
the material of the wire 1s 0.3, then the volume strain of the wire 1s
e A8 0.3

8K B e

&8 0.2 % H6c5n

Options :
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0.08%
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Question Number : 95 Question Id : 64041114655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If two soap bubbles A and B of radii r, and r, respectively are kept in vaccum at
constant temperature, then the ratio of masses of air inside the bubbles A and B
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Question Number : 96 Question Id : 64041114656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A small quantity of water of mass 'm' at temperature 6 °C is mixed with a large

mass 'M' of ice which 1s at its melting point. If's' is specific heat capacity of water
and 'L’ is the Latent heat of fusion of ice. then the mass of ice melted 1s
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Question Number : 97 Question Id : 64041114657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In a Carnot engine. if the absolute temperature of the source 1s 25% more than

the absolute temperature of the sink. then the efficiency of the engine is

2.8 =87 oholBos®, éapdoho o) DB &P, BSerdaho @) HBH &L
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B08 25% =650, ®ond & dholo BES

Options :
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Question Number : 98 Question Id : 64041114658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The work done by 6 moles of helium gas when its temperature increases by
20 °C at constant pressure is

(Universal gas constant=8.31 Jmol ' K™

Cale 580 &63 6 Joeiey S cho archd) GRootfy esalfcied 20 °C BN, e arcsndd 3ns
38

(898 arofn Joroto =8.31 Tmol ' K1)
Options :
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Question Number : 99 Question Id : 64041114659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



If a heat engine and a refrigerator are working between the same two temperatures
T, and T, (T, > T,). then the ratio of efficiency of heat engine to coefficient of
performance of refrigerator 1s

a8 egdbol@o »Hbaiw a8 £5D58e chol¥o ©3 Both 5%{{%@ T, 8o T, e
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Question Number : 100 Question Id : 64041114660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the internal energy of 3 moles of a gas at a temperature of 27 °C 1s 2250R.
then the number of degrees of freedom of the gas 1s
(R - Universal gas constant)

ry * =

i R 6 é@ﬁe’_‘; ‘:ﬁﬁg 3 Jrde 2.8 Tedind @no¥) wosd¥ €8 2250R wond, @ s
@) ol HBbee DHogy
(R - 588 acin §orogo)

Options :
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Question Number : 101 Question Id : 64041114661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



If two progressive sound waves represented by y, =3sin 250t and

Y, =2sin 260 nt (where displacement is in metre and time is in second)
supertmpose. then the time interval between two successive maxinnum intensities

1S
Both DB Y SBorren y, =3 sin 250 nit SBXD y, =2 sin 260 nt (=S
ﬁ;ﬁ@"@éa Soe:6 &% B sPe0 DEotH E°) en E‘@"’é"jﬁa'&ﬁmﬁ 3obis, Both HH K6Q

Bdde Dy see HHo
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Question Number : 102 Question Id : 64041114662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



If the least distance of distinct vision for a boy is 35 cm. then the lens to be used
by the boy for correcting the defect of his eve 1s

N e ey By HeBo 35 om, monsd @8 Bod Sharpdy H30058 es
(%) [ o [=-8

o

grentsy setHeohs Bédo

2.8 zmen

Options :

convex lens of focal length 35 cm

| % 35 cm argrgodto Ke Hogrsed Eh¥o

concave lens of focal length 35 cm

35 cm oegmosdo e shtrsed Bé¥o
2. %

convex lens of focal length 87.5 cm
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concave lens of focal length 87.5 cm
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Question Number : 103 Question Id : 64041114663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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In Young’s double slit experiment. 1f the distance between the slits 1s increased to
3 times 1initial distance. then the ratio of initial and final fringe widths is

ool oty DY HIerost, HDEe s0gy trdodn &9 SrEindt 3 Bép 325, &9
B0 H6 o Jene A

Options :
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Question Number : 104 Question Id : 64041114664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A solid of mass 1 kg has 6 102 atoms. If one electron is removed from every
one atom of 0.005% of the atoms. then the charge gained by the solid 1s

2.8 kg (5335078 He 2.8 50w &mﬁé@éﬁ 6 x 1024 H8srmpen 6. (038 H8HreanHSt

2.8 @5@?5 Pe3peS 0.005% DH8redos® Sofodd, e 508 Surdo Galelny a’j-d‘éj&qmiéo

Options :
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Question Number : 105 Question Id : 64041114665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

One of the two 1dentical capacitors having the same capacitance C. is charged to
a potential V| and the other is charged to a potential V.. If they are connected
with their like plates together. then the decrease in the electrostatic potential

energy of the combined system 1s
C SarEy) e Both JER&rdgdid Sard £286° 28R V, 8o, BoddaeR
V, £r8oHdd «d8hboed. =t @ Both Sarhey Serd Hofody Sogrko TR,
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Question Number : 106 Question Id : 64041114666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the energy stored in a spherical conductor having a charge of 12 uC 1s 6 J.
then the radius of the spherical conductor is

12 nC w3ido 80A &) a8 Reesed arirfod® Doy &X) 48 6 J. wond « Fesd

vElelvivlele



Options :

10.8 cm
1.9

0.108 cm

2. %

1.08 cm

3. %

108 cm

Question Number : 107 Question Id : 64041114667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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A part of a circuit is shown in the figure. The ratio of the potential differences
between the points A and C, and the points D and E 1s

28 So0Hodtd Bod griko Heosd $rh8 Do &i9)h. A, C dothhe oy sobain
D, E Qothie ey o araohd Boee 58

Options :
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Question Number : 108 Question Id : 64041114668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A dc supply of 160 V 1s used to charge a battery of emf 10 V and internal
resistance 1 Q by connecting a series resistance of 24 Q. The terminal voltage
of the battery during charging is

160 V dc 5850e% 3d&E 24 O Eﬁﬁmﬂﬁi& ¥03% emf 10 V £0ba5m @oéé&ﬁﬁqﬂo 1Q

He 2.8 erﬂjéﬁjéciﬁ wnddo D, wBSso Boﬂé:-:ﬁ;piéj 331*5@5 a8y E&éﬁfﬁ EEEQB%

Options :
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12V
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3@ 16V

4V

Question Number : 109 Question Id : 64041114669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

The magnetic moment of an electron moving in a circular orbit of radius R with

a tume period T 1s
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A solenoid of one meter length and 3.55 cm inner diameter carries a current of
5 A. If the solenoid consists of five closely packed lavers each with 700 turns
along its length, then the magnetic field at its centre is

2.8 Sneb frid) SRk 3.55 cm ST aeiio e e P0aromb 5 A DS 1Parmiro
LOACSHRE. TDaronl TR Jond e.E%) &R T00 ey alalela AT i
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The work done in rotating a bar magnet which is initially in the direction of a
uniform magnetic field through 45° 1s W. The additional work to be done to
rotate the magnet further through 15° 1s

Fend .8 DEOS wahamos S8 HIS® &%) el Bowrabamosodn 45° (ghmo Dot

D28 H0 W. s edhamosod 87 15° |gfimo Scintd Ichdeds o 59
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Question Number : 112 Question Id : 64041114672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



When a current of 4 mA passes through an inductor. 1f the flux linked with 1t 1s

32x107® Tm?. then the energy stored in the inductor is

i,

X V59, Q&Y 20883 ©daedro
L=, o ol a
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Question Number : 113 Question Id : 64041114673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



In a series resonant LCR circuit. for the power dissipated to become half of the
maximum power dissipated. the current amplitude is

a8 odad B8 LCR dochost et 5@5}5}3:%35 #é}%ﬁéo, "eZome Cﬁ}ﬁéé@ﬁjaﬁmﬁ%
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1
\(I; times its maximum value.
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Question Number : 114 Question Id : 64041114674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The waves having maximum wavelength among the following electromagnetic
waves 1s

Bob DSgchaos SBormred® K05 SB8oRgY so He Sdorren
Options :
X-rays
| % X-8Bewen

Radio waves
BEGr SBorren
2.¢
UV waves
. UV &8orren



Visible rays
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Question Number : 115 Question Id : 64041114675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the de Broglie wavelength of an electron is 2 nm. then its kinetic energy is
nearly

(Planck’s constant = 6.6 x 107% T's and mass of electron =9 = 107! kg)

2.8 aoses & (ardD S$80138 so 2 nin ®ond, ool K8z 8§ Mdrdre
L = —ad) ==

(508 Horo¥o = 6.6 x 1077 T s 60 oS B8508 =9 x 107" kg)
Options :

0.48 eV
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0.38 eV
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0.25eV



Question Number : 116 Question Id : 64041114676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The ratio of the wavelengths of the spectral lines emitted due to transitions

3 — 2 and 2 —1 orbits in the hydrogen atom is

P EaS B &0
5556 Dwer SSoN3oe e D8
fa e alJT -
Options
9:17
2. %
.47
3. ¢
25:9
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Question Number : 117 Question Id : 64041114677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The density (in kg 111_3) of nuclear matter 1s of the order of
Solis8 Sy Fross (kg m™ &°) @ng) (Bo
Options :
1021

1. #®

1017
2.¥

~

108

Question Number : 118 Question Id : 64041114678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In common emitter amplifier of a transistor. if the ratio of the voltage gain and
current amplification factor 1s 4. then the ratio of the collector and base
resistances 1s

2.8 (R0 BwE) eid eoedd ‘45§oé_ﬁ“° 5 Eﬁ )8 b HSgs B DY
o880 D8 4 o, 2E8E Hobotn egrdoe @EJ-ECF{L A8
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Question Number : 119 Question Id : 64041114679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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If three logic gates are connected as shown in the figure, then the correct truth
table of the circuit 1s
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Correct Marks : 1 Wrong Marks : 0



Ionosphere acts as a reflector for the frequency range of

[,

oSS 8mY &8 Soenstorr 30T FHED

= e

Options :
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3. %
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Sub-Section Number : 1
Sub-Section Id : 640411308
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 64041114681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The uncertainty in the velocities of two particles A and B are 0.03 and 0.01
m s~ ! respectively. The mass of B is four times to the mass of A. The ratio of
uncertainties in their positions 1s

A %60im B oo Bots Swre Imred® eddddo $855m 0.03 H6asn 0.01

ms. B (5555028 A (885088 TrentD By, @ PeEtY oddBS Va8
Options :
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Question Number : 122 Question Id : 64041114682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The total maximum number of electrons possible in 3d. 6d. 5s and 4f orbitals
with m, (magnetic quantum number) value -2 is

3d. 6d. 55 580 4f—~‘?ﬂ6€j$}’°‘§;@ﬁ m, (adhamos 520600 Hogy) Hensd —2 &b :r-'eﬁuéur‘i

! &
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Options :
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Question Number : 123 Question Id : 64041114683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The period and group numbers of the element having maximum elctronegativity
in the long form of periodic table. respectively. are

83 Y EeRTH HRES KBR Boesd FErSEER EOACINY) oo ang) 5B86HE HBasm
(Foe5 Sogygen SEHe

Options :
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Question Number : 124 Question Id : 64041114684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the pair of molecules which have same hybridisation as the hybridisation
in Xenon (II) fluoride.

o5 (I1) §fBES° @ HoBEEsmo o8’ & HodsEsmes” &8 ) eei)e 308 MHBohim.

Options :
Xe{)? SF A
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BrF.. PF,
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Question Number : 125 Question Id : 64041114685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the set containing isoelectronic species.
¥ o}e_nts;ﬁ emedoenn e HE0ER cobood,

Options :

N,,0357,NO*

N,,CO,NO"

F,,07 \N,

N5 056,

Question Number : 126 Question Id : 64041114686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Choose the incorrect statement from the following
Bob BS° H6500 TSRS ol E;gg’o&.
Options :
At Boyle temperature a real gas obeys ideal gas law over an appreciable
range of pressure
2PN ﬁﬁg@ﬁéﬁ 58 28 Qesarding e8diErains Aabsird H: 8 28eE® 808,

oL —og) [

Critical temperature of CO, is 27.5°C

CO, % SoBK S58KS 27.5°C
2.4 ° %

Above critical temperature. a real gas behaves like an ideal gas

\ Eﬁo&ﬁé ﬁ@[f‘iéé 28, Nesading etddiErding 858 [2300hi.

At room temperature and 1 atm pressure the compressibility factor (Z) for

H, gas is greater than 1

K6 esfis sHbatn 1 atm 5e6b0 $& H, ac50shH H05hts o (Z) 288 o8

4% 63%3&5.

Question Number : 127 Question Id : 64041114687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



An ideal gas mixture of C,H, and C,H, occupies a volume of 28 L at 1 atm and
273 K. This mixture reacts -::ompletelv with 128 g of O, to produce Cco, and

H,O(7). What is the mole fraction of C,H, in the mixture ?

273 Ksobain 1 atm écg CEHG S0Bdin C2H4 & e_'%cf;lifr a°asn So|Bsno 28 L 5niibsiresea)y
eEdhohin. & MEo 128 ¢« 0,, & 5 ieTaLliinleidntleln CCL,, swéam H,0(f) o
Q. iEKos® C. JH, 36 grtfo aos ?

Options :

% 04

, % 0.8

0.5
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Question Number : 128 Question Id : 64041114688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Complete combustion of ethane gives only gaseous products. In a closed vessel.
15 g of ethane and 112 g of O, were allowed to completely react. What is the

total number of moles of gaseous substances present in the vessel at the end of
the reaction ?

7S Sebre $irdo Jod aecin (BoSrasaege SrEah aod. Hird 60D apEs®
15g & &85 H8cim 112 geo 0, o Fehr SETTobomrd. Iy wdosto v ok
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Options :
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Identify the incorrect statements from the following.
Bob aré od 585 arggein HBodod.

I. For adiabatic process. AU = W,
26°8 HiEch®, AU=w_,

IT) Enthalpy i1s an intensive property
@D@T’@; 2.8 a8 iﬁtﬂ@_a‘ﬁn}

ITT) For the process. H,O (/) = H,O (s). the entropy increases
H,0 (¥) - H,0 (;.:33} IBAHE, Jolgstd KIHE08.

d

The correct answer 1s
$BGE Sdrgedo  (only = Sm(EEh)
Options :

L. II only

L LILII

L III only

3. %

L II. III only



Question Number : 130 Question Id : 64041114690 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Enthalpy of formation of CO,(g). H,O(/) and CzH;,04(s) are —393, -286 and
—~1170 kJ mol™! respectively. The quantity of heat liberated when 18g of
CgHy,04(s) 1s burnt completely in oxygen 1s

CO,(g). H,O(/) &8aim CgH ,04(s) HoBies éjot:;ﬂﬂnj:@:n Hsme —393, 286
and—1170 kT mol ™. 18g & CH1205(5) 0 ©8)2:88° (rbre $55550 BobodSHp
Sende 65oe8  (s=go, I=8, g=ar)

Options :
520kJ
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The percentage of ionization of 1 L of x M acetic acid is 4.242 and 1s called
solution "A". The percentage of ionization of 1 L of v M acetic acid 1s 3 and 1s
called solution "B". Solution "A" is mixed with solution "B". What is the
concentration of acetic acid in the resultant solution ?

(K, of acetic acid = 1.8 ~ 107)
1 L xM ffsesin ochiste 3eEsn 4.242 5H6cin B2 [orbeo "A" @ LD,
1L y M Q28s:py) ©chiEses &S5m 3 Sbch 6D [mdmo "B" @ HO=5H.
ledeso AR [gedieso B & 8Dard. B8 oeSe08” JHBseK0 s dod ?
(8o @ K, = 1.8 x 107)
Options :
0.05 M

- 0.015 M

0.02M

3. %

0.15M

4, %
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Correct Marks : 1 Wrong Marks : 0



At 298 K, the value of Kp for NpO4(g)=——=2N0,(g) is 0.113 atm. The partial

pressure of N,O, at equilibrium is 0.2 atm. What is the partial pressure (in atm)
ax:-leD'2 at equilibrium ?

298 K g5 NpOy(g)===2N0;(g) Stz K, e 0.113 atm.

S0 6 NpOy 88 5o 0.2 atm. $oedd S NO, 8¢ Sesssso (atm
2659 2oef 7 (g = o)

Options :

0.05

0.075

0.30

0.15

Question Number : 133 Question Id : 64041114693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



H,O, reduces KMnO, in acidic medium to 'x' and in basic medium to y". What
are x and y ?

H,0O,. sy airdgos® KMnO 4 X e Snbain 58 airdgos® ' e BohEseo
Mo, X $0bcin ven &) ?
Options :
x=MnO,, y= Mn**

1. %

x=Mn*", ¥ =MnO,
2.

= 1\-1110;1_. V= Mn ="
3. %

x=MnO,. y=MnOj"
4. % i

Question Number : 134 Question Id : 64041114694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which chloride does not exist as hydrate ?
» §BE 2rES ™ 0fosn ?
Options :
MgCl,

1. ®



CaC “Fz
TaCi

Y. KC/

Question Number : 135 Question Id : 64041114695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the incorrect statement about the group 13 elements
(Bob &S 125 13 Sresee D80 HB5Y a5EER HoBohEm
Options :
Nature of aqueous solution of borax 1s alkaline

L% 508 eselorsdeo 58 Qgraoin B Gothih.
Orthoboric acid 1s a weak tribasic acid
- f_aSQEﬁEBE @0 (B5e8E el efo
Metaboric acid on heating gives an acidic oxide
DerdBE wiod IETY 6 @BE LBHH0H.



LiBH, acts as a reducing agent
LiBH, Ec588ém [55558:5208.

Question Number : 136 Question Id : 64041114696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following statements are correct ?

Bod amsared® BB & ? (only = Hm(Sd)

I) SoF, 1s 101iC 1N nature
SIIF4 a8 Segrio Beb.

II) Stability of dihalides of group 14 elements increases down the group
155 14 Sresee G5F86e §B8z0 =5Ed Bots E%ﬂgég”% Foleilavlsilelnd

III) GeCl, 1s more stable than GeCly
GeCly Bo&8 GeCly )&y 985%0.
Options :
ILII & III

I & III only

2. %

IT & III only

3. %



I & II only
4.

Question Number : 137 Question Id : 64041114697 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Correct Marks : 1 Wrong Marks : 0
Which of the following when present in excess in drinking water causes the
disease methemoglobinemia ?
Bod &SP 06 [FRABS® wborr 08 DHIPRHDDCT THR BenkSnod ?
Options :
o
SO;

1. ®

NO3

2.¥

3. % F

Pb

4. %

Yes

Question Number : 138 Question Id : 64041114698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



IUPAC name of the following compound 1s
Bok mwé o axng IUPAC 2%

Options :

2-Methyl-4-ethylhexane
2= S&BEF 4- éaaunfﬁm

1. %
4-Ethyl-2 -111eth}']]1 exane
4-%35-2-035 % SH,N

2. ¢ =

5-Methyl-3-ethylhexane

5-3S-3-%@S S

3. = -
3-Ethyl-5-methylhexane

3= B‘E— 3] oya@ “:‘S“‘,E
4. %

Question Number : 139 Question Id : 64041114699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The empirical formula weight of 'Z' in the given reaction sequence is

. Na (5O & (:‘.If )
n-propyl bromide X —23 Y =57
Dry ether 773K UV
20 atm S00K

Bod zﬁtﬁé@é)@éﬁ Z 3n¥) odgrdd %Lﬁj@_f_w Falele

NT,5 (R E Na e o Bl
n-g528 SHE »X ——2-35 3 2,
. S8 &S5 773K uv

20 atm 500K
Options :

475
1. #®

Question Number : 140 Question Id : 64041114700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



If AgC/ is doped with 1x10~% mole percent of CdC/,. the number of cation
vacancies (in mol ™) is

w

AgCl o, 1x107* 38 o CdcCil, & &% 3258 seecsirsS grde Sogyg (mol™
oed)
Options :
6.023x10"

6.023 %101

17
1 6.023x10

6.023x10%>

4, %

Question Number : 141 Question Id : 64041114701 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In aqueous glucose solution. the mole fraction of water 1s 40 times to mole fraction
of glucose. What is the weight percentage (w/w) of glucose in the solution ?

KBS 2o [edeind®, 8 Ird griidn KpE'E Ird grred8 40 Ben. (Temod®

Kr8%E grdardo (W/W) Qo ?

Options :



4.% 10

Question Number : 142 Question Id : 64041114702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Benzoic acid molecules undergo dimerisation in benzene. 2.44 g of benzoic acid
when dissolved in 30 g of benzene caused depression in freezing point of 2 K.
What 1s the percentage of association of it ?

(Given Kf{Cﬂﬂéj =5Kkg mol ™! ; molar mass of benzoic acid = 122 g 11101_1)

BoERS°® BoE 0w wifo ween Brwestno dotharon. 2.44g © Bo& onk eiipd)

30g & BofSS? €8AT el dEHD ard 50 2 K e 608, oo ardedds a°80 dos?
= o ) [ 2

(Bord =122 g mol™1)

5236 : K (CgHg) =5 K kgmol ™. Bos'on§ i) amerd
Options :
Lo 80



60

90

4.%

Question Number : 143 Question Id : 64041114703 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

When the lead storage battery 1s in use (during discharge) the reaction that occurs
at the anode 1s

86 m::ao] w»“ﬁJFj tsgod? SRPE (Eﬁfﬁg e3Btheped S ale) 2257 il
(s =508, =8, aq = =)
Options :

. PbSO,(s)+2H,0(£)——>PbO,(5) +SO3 ™ (aq) +4H ™ (aq) + 26"

Pb(s) + PbO, (s) + 2H,S0, (aq) —> 2PbSO 4 (s) + 2H,0(/)

2. ®

Pb(s) +SO3~ (aq)—>PbSO4(s) + 2~

PbO,(s) +SO7 ™ (aq) + 4H™ (aq) + 26" ——>PbSO 4(s) + 2H,0(])

4. %

Question Number : 144 Question Id : 64041114704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The following equation is obtained for a first order reaction at 300 K.
k
log;g - 0.00174

What is the activation energy (in J mol™) of the reaction ?
(R=8.314 Tmol ' K}
300 K 88, &8 (2% Birot S (Eob H&85m0 e8oDob.

'y
log;;—=10.00174
10 A

585 6828 48 (Jmol ' &%) Do ?
(R=8314 Tmol ' K
Options :

10.0
1. ¢

100.0

0.1

3. %

L% 10

Question Number : 145 Question Id : 64041114705 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Match the following
Bob 7HD 238823050

List-I (colloidal solution)

erdlae-l (Berondd (eiiso)

A) Colloidal antimony
soBRnd) Serond

B) Argyrol
=08°S

C) Colloidal gold
Eepontd RS

D) Milk of magnesia
D) & &ﬁ&ﬁ;ﬂﬂ

The correct answer 1s
288 Daegrdo
Options :

A-III. B-I. C-II. D-IV
1. ¢

A-II, B-1, C-IV, D-1I

B

List-II (use)
erdla-11 (&35a=0)

I) Eye lotion
EoHEH0
II) Intramuscular injection
Solorosy sosEEs
IIT) Kalaazar
Xewer5
IV) Stomach disorders

658 oiges



A-IV, B-II, C-I, D-III
3. ®

4% A-II. B-1. C-IV, D-III

Question Number : 146 Question Id : 64041114706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Adsorption of a gas on solids follows Freundlich adsorption 1sotherm. The graph

drawn between 10— (on y-axis) and log p (on x-axis) is a straight line with
m

: : . X
slope equal to 3 and intercept equal to 0.30. What is the value of — at a pressure
m
of 2 atm ?
(Given: log 2=0.3)
X
m

o

qﬁ}m’:r:jﬂc:r@v@_éj PO5n ©68% 0 (gronobdR ehE8 s éﬁﬁ-éﬁﬁgé@ @iH65008. log
(y-o%o s0%) 5905w log p (x-wfo b)) & ot (P5D ADKSHPD aren 3 B Skrdorrid,
o 5 X
wosigpotbo 0.30 & HSrSorr Ko g J5¢0y ofodod. 2 atm Hédo éj(g — Dend
111
Jod ? (2D @ log2=0.3)
Options :

1$48



Question Number : 147 Question Id : 64041114707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following reactions is an example of roasting ?

o

Bob SGed® 0 FHEHod a8 soedeten ?

Options :
nCO;——7Zn0+CO>

1. %

2PbS +30, —>2Pb0 + 250,
2.9

Fe,0; + 3C—>2Fe +3CO

3. %

FeO + Si0, — > FeSiO;
4. %

Question Number : 148 Question Id : 64041114708 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
Nature of two oxides of nitrogen X and Y formed in the reaction of sodium
nitrite with hydrochloric acid is
oo JBES, PE°E0E wios® SETod KS JEaS Do) o e5)Ee
X &6cin Y o dxgrido
Options :

Both X and Y are acidic in nature

X $08cin Y en Bodr e SgrHo Hed)

1. ®

X 15 acidic and Y 1s neutral in nature
X eoy Sggrarr)) s0Bam Y éﬁ::ié RGP é@ &0E006)

Cre

2.¢¥

Both X and Y are neutral in nature
X $08cm Y en dotsre e‘ﬁ-'ia‘sé QR0 Ked)

X 1s amphoteric and Y 1s neutral in nature
X B5dgeraoi s0bain Y ém‘&é RETaTR)) éﬁ’f} SOLI00

s

4, %

Question Number : 149 Question Id : 64041114709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Match the following
Bob B 238855050

List-I (Transition metal, M)

fee-l (H858% %o, M)

A) Ni
B) Mn
C) Fe
D) Cr

The correct answer 1s
26ahR Sdrgriio
Options :
% A-III. B-II. C-IV, D-I

A-III. B-IV, C-I, D-II
A-III. B-1. C-IV. D-II
3.¢

A-I. B-IV. C-II. D-III

4, %

=

List-1T (E 0. ) )

EE?'
edee-I1 (= 2+ 0 )

1)=1.18
1) —0.91

1) —0.25
IV) —0.44



Question Number : 150 Question Id : 64041114710 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the complex ion with spin only magnetic moment of 4.90 BM.
[g55es ©prd8 edbarpd (gringo 4.90 BM e &) So8s edirai 8o,
Options :

. [Co(NH3)6I>*

., [orNHy)er”

. [Mn(CN)s]>~

. 3
i [MnC{g]

Question Number : 151 Question Id : 64041114711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What are X and Y in the following reaction ?
Bob iﬁ{ﬁééﬁ X 508w Y en 2 ? (I = (885)

nCICH = CH, —>>Y

Options :



Na/NH;(/) - thermosetting polymer
633 §)& D06

1. %
(CegHsCOO), - thermoplastic polymer
- CSE),; o208 Db
Na/NH;(/) - condensation polymer
_— Hoddd aeDb
(CgHsCOO), - Network polymer
4% ere¥ arhind

Question Number : 152 Question Id : 64041114712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Consider the following
B0l aefid) DBidEochain.

Statement-I : Cane sugar 1s a disaccharide of o -D-glucose and (5 -D-
fructose

| 4 S8 (Cane sugar) o -D-trE%S bt B -D-3§i5 o0EaE

Statement-II  : Milk sugar is a diasaccharide of o -D-glucose and -D-
galactose

arag-1l ey S8 ol -D-ripEPE Sobote P -D-rreflSe geedoh

The correct answer is
2DBCHE HRogERo
Options :
Both statement-I and statement-II are correct
argppg—1 &0B0%0 aree-1I oo HBgHEd.

1. =

Both statement-I and statement-II are not correct

aregg=1 &0B0kn argar-1II Sor XBEHAD =,
2. %



Statement-I 1s correct, but statement-II is not correct

argps=1 DBEHRG, ev) =11 SBGHHG seib.
3.¢¥

Statement-I 1s not correct, but statement-II 1s correct

argpe=1 HOEHHG sk, =Rl ageg-IT XBGhEk.
4, %

Question Number : 153 Question Id : 64041114713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The deficiency of vitamin (X) causes convulsions. Source of X 1s Y. What are X

and Y ?

Sendh 8°Ko, DS (X) &°07) Benrbdod. X Gng) 688 o o Y. X ihbain Y en

£ 1y ‘-,J

ool
Options :
Riboflavin, milk

mF

o), aIPeN

J ]

B5'

-;:-
Jf

1. *

Riboflavin. fish

38 N

y kool

c’_'Il]

|C1]

QE



Pyridoxie, curd
2BE8)S, 2B

3. %
Pyridoxine, cereals
26E°8)S, s gramen
4.

Question Number : 154 Question Id : 64041114714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not an example of synthetic detergent ?
Bod &S 0 §)85 8680858 GoEirses st ?

Options :

Cetyltrimethylammonium bromide
2858 HSeITVHD (E°HE

1. % :

Sodium stearate

” Nilalorvle) %@&6&5

Sodium laurylsulphate

SPEADO erBSSENe
3. % -



Sodium dodecylbenzenesulfonate

4, % DGA%0 E*GE5BodSHENES

Question Number : 155 Question Id : 64041114715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The most reactive compound towards nucleophilic substitution with an aqueous
NaOH 1s
NaOH zoprdeno8® $rmB@rdHds Haghns’ o8 &b Sodod: $05 SayFso.

Options :
CE

1. ®

B
NO,



C{

NO;
®
S
NO,
3. %
Cl
0,N NO,
NO,
4. -

Question Number : 156 Question Id : 64041114716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

An alkyl bromide X(C_H, Br) undergoes hydrolysis i a two step mechanism.
X is converted to Grignard reagent and then reacted with CO, in dry ether
followed by acidification gave Y. Whatis Y ?

28 ©8)5 BE X{CSHH
X {:F_m"ac‘;?: se8ore 878, @ $oxE Ao &a0556° CO, &b 58 268 e_eﬁ,jg%a‘éo So%Hre
Y & adobd. Yab ?

Br) Both eode S8 derdo ooe &@&-ﬁ‘eﬁm Jotnob.

Options :



Y

COOH

SN cooH

xxﬁiKJfCOOH
“”*L“CDOH

Question Number : 157 Question Id : 64041114717 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Consider the following sequence of reactions.
1Bol Soyaiomr)y BB BoHE®. (anhy = D%e; conc. = i)
NaOH/CaO CO+HCI cone.

CsH;COON » X >Y >A+B.
g . A Anhy. AIC, NaOH

If A is the reduction product of Y, what is B ?
Awdn Y o) EohEde aelydic wond, B ok ?

Options :

Sodium formate
Sialorye) @ﬂé&&?

Sodium phenoxide
oo Haeh

Sodium salt of benzoic acid
FoFonE wipo B FHcho obmo

Sodium salt of salicylic acid

FONDE wio Gho) HEEcHo wibmo



Question Number : 158 Question Id : 64041114718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What 1s A 1n the following reaction ?

CH; ~CH=CH—CH; —CH; —gN—RASE D)y o0,
- - 2)H,0

g =
(Bob 3Bes® 'A' 8 ?
= gl

CH; — CH=CH - CH;, —CH, — e DASIE B,

2)H,0

Options :

CH; -CH=CH-CH, - CH, —-CH, —NH,
1. %

CH; -CH, -CH, - CH, —-CH, —-CH, —-NH,
2. %

CH; -CH=CH-CH, -CH, - CHO
3.¢
, » CH3—CH,—CHy -CH; -CH; - CHO

Question Number : 159 Question Id : 64041114719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The correct statement regarding X and Y formed i the following reaction is
(BoB 38 E?-iﬁ;(%%ﬁ X 08k Y e Jo200d JBEHS a5y 08 ?

(CH; )3C‘0C3H5%halide(}ihalcohol(‘f)
SE8E se)ikS
Options :

X undergoes substitution by Sy;2 mechanism

SN2 Sogderdo oo X @’:E&éﬁe&m&% 508

X undergoes substitution with water in two steps

v DB X 13885 Both ®woded® athiheod
2. i

Y gets converted to corresponding chloride with conc.HC/ at room
temperature

. KE SEENS 58 el HCI 8 Y So2068 8% sSriathdod
3. = =
Reaction of Y with Cu/573K gives ketone

Y & Cu/573K ang 3% &35 =508
4. % Eoheast] -

Question Number : 160 Question Id : 64041114720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Consider the following
1Bob o) BBMHodod

Statement-I : In the nitration of aniline, more amount of m-nitroaniline is
formed than expected.

sTe5Es -1 D ORDS G JEARST ér2rod @Rgodl S Jndos®
m-g¢5" A0S DFeoh.

Statement-II  : Inthe presence of a strongly acidic medium, aniline is
protonated to form anilinium ion, which is meta directing.

argapg -11 L 2o ey oiesgos® a0bS (£8P dmo 308 DHVCHS

ol afydoh, al e ?Jéra’éo.

The correct answer i1s
N alon s I E ninle)
Options :
Both statement-I and statement-II are correct
a1 S0Bosn argyg-TI Bode B ghia.

1.«

Both statement-I and statement-II are not correct

sl soBoin aegpg-II Bodr SBEHNE s,
2. =



Statement-I 15 correct, but statement-1I is not correct

argpg-l 0BoSe, soR) argps-T1 SHEHRE seh,

Statement-I 1s not correct, but statement-II 15 correct

aregs-1 DBE3RE smes, seR) amgg-IT HBghik.



